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(1) BB
O% W £ B 1,350,000 1,400,000 A 50,000
BHRSBEIINA 290,000 300,000 A 10,000
—REEIA 1,060,000 1,100,000 A 40,000
QF % W X 2,053,375 1,810,890 242 485
RER IXA 290,000 290,000 0
MEF_EIXA 1,763,375 1,620,890 242 485
QTEmMaHEELE 0 500,000 A 500,000
SIAHESINA 0 500,000 A 500,000
@ IR i@ 15,118 25,071 A 9,953
HEUTA 15,000 25,000 A 10,000
Z D ZEFIR 118 71 47
®’E NS 3,418,493 3,735,961 A 317,468
(2) BEER
D= E-S # 2,360,838 1,585,880 774,958
WEXEBE 219,000 0 219,000
BIEEHRE 75,563 214,151 A 138,588
HERE 1,805 6,300 A 4,495
RIS AZE 450,000 450,000 0
=Xt 125,258 0 125,258
ZHHEE 55,000 75,000 A 20,000
ZHFHE 9,158 0 9,158
= 1,001,713 840,429 161,284
EitE 423,341 0 423,341
Q%E 3 # 1,096,770 2,174,515 A 1,077,745
WEXEBE 44,501 87,347 A 42846
=5 20,970 14,370 6,600
BIEEHRE 172,515 56,250 116,265
HERE 9,930 10,020 A 90
SeEok g 0 10,000 A 10,000
=Xt 71,239 110,000 A 38,761
ABNE 59,669 80,000 A 20,331
ZHIHEE 50,000 30,000 20,000
B = ks b 334,800 348,750 A 13,950
T FHE 143,070 13,464 129,606
B 190,076 1,300,000 A 1,109,924
e 0 114,314 A 114314
REEMR it 3,457,608 3,760,395 A 302,787
LHIR R I REE A 39,115 A 24434 A 14681
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(1) &&EH I
BEMNE 0 0 0
(2) ®&EH EH
wRENER Gt 0 0 0
LIRS R 0 0 0
18| BT 24 58 — AR 1E IR B 22 M4 A 39,115 A 24,434 A 14681
EAFL. ERBREUEER 160,000 0 160,000
4 HA — % IF R B BE 1 RIRE A 199,115 A 24,434 A 174,681
—RERMEHERS 275,805 300,239 A 24434
— R IERM ERRES 76,690 275,805 A 199,115
I #57E IERRBA EEIE L D BB
4 HA 5 XE 1E K B PE 1 RIBE 0 0 0
IBEEGMEREES 0 0 0
e EHRMESRRES 0 0 0
Il EEBESFERS 76,690 275,805 A 199,115




